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for the questions. ' :
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A. Choose the correct option for the following
questions : - 1x8=8

1. _Companies’ Act 1956 was replaced by
(a) Companies Act 1988
(b) Companies Act 2002
(c) Companies Act 2010
(d) Compaxiies Act 2013
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2. What is the fan form of FERA ?
- (a) Foreign Exchange Regulatxon Act
(b) Foreign Exchange Regulatlon Agency .'
(c) Foreign- EXChange ‘Repulsive Agent
(d) Forelgn Expert Regulatlon Act

3. 'Liberalisation and Privatis

a result of atlog beglns in India as
(a) New ~econom1c policy 1,‘99:1-

- (b) Industrial (devel
- 1951 °Pment and regulauon) Act

(c) Compmes Act 1956
(d) Partnershxp Act 1932

4. EXIM.pollcy deals Wlth

(a) Only Export ® Ony Imp ) |
O] o
© Both (a) and (b) (d) None of the above j‘

5. Social Respons1b1hty of B :
responsxblhty of businegg tl;s\;nes: refers to the

(a) Customers ®) EmPloyees

-(¢) Shareholders |
: , @ An of the above
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. Which of the following. is not a pnnclple of

business ethics?

(2) Principle of humanity
(b) Principle of rationality
(c) Principle of equality

~ (d) None- of the above

. ‘Which of the followmg is an_indicator of '

economic envuonment

(a) GDP

. -(b) Stock Market Indlces 7
(c) Rate of employment

(d) All of the above

. | Which of the followmg is an example of external

factor of business environment

' (a) Employees (b) Labour Union

(c) Value System (d) All of the above.

. Answer the following questions: 4x4=16

1. What is corporate Governance ? What are the
characteristics of Good Corporate

- Governance ? 2+3=5
2. Briefly explain the components of business
environment. .
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Explain some of the
collaboration.

4. Write short note op FEMA

€: i
Answer the following Questions : = 14x4=56

1. Explain the character;
environmf;m_ Why

knowledge of busin
better operation of

cte stics of business
It is important to have
€ss Cnvironment for. the
businesg organizations ?
7+7=14

T+7=14

Or |
What %s business ethics 7 Explain how ¢
deten?um.? ethical action ang decision j .
Orgamsatu.)n ? State some of the ad it
of managing ethijcg in the workplazzn i

2+6+6=14

130

benefits of foreign |

3. Explain the changing legal dimensions in the

post independent India. 14

: Or
Describe the Competition Act. Write the
differences between the Competition Act, and
the MRTP Act. T+7=14

What do you mean by disinvestment and how
it is different from privatisation ? State some
of the merits and demerits of disinvestment.

7+7=14
Or

Briefly explain the feature of New Industrial
Policy 1991. State some of the merits of New

Industrial Policy 1991. - 7+7=14
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